BREBERE . mber 10 The Signal 1 (7t Eng lit)

Comprehension exercise A - Tick the correct options
Ex A- 1) d 2)d 3)d 4)c

Ex- B read the sentences and answer the questions
Ansl) Semyon said these words.

Ansb)These words convey that Semyon also had problems in the past and experienced sorrow sometime
or the other.

Ans c) Semyon was referring to the days when he was a soldier.

Q2 Ans a) Arina was Semyon’swife

b) The neighbour was vasily.

C) Semyon felt this way because whenever he tried to talk to his neighbour he became angry and rude
Q3 Ans a) Semyon said these words .Them is the chief and the traffic inspector.

b) These words were spoken when chief and inspector went towards Vasily’s hut .

C) The speaker thought like that because vasili and traffic inspector had old grudge against each other
and both had done complaint to the chief who came for inspection.

Exercise-C

Ans 1) Semyon Ivanov was an ex soldier who served as an assistant to an army officer .Once he was
travelling in a train ,when he met the station master who was his officer in regiment offered him a job of
track walker.

Ans 2) The track Walker had to go over the track twice a day ,examine and tighten up the nuts,look at
water pipes etc.There was only one drawback of this job that always he had to get inspectors permission
for the least thing which he wanted to do.

Ans3) Vasily was angry because he thought he was underpaid and fined for growing cabbages without
taking permission from inspector.

Ans4) The sleepers were carefully examined ,spikes driven in nuts tightened posts painted and yellow
sand sprinkled at the level crossing.

Ans5) When the chiefs trolley approached Semyon’s hut, he ran out and reported in soldierly fashion.

Ex-D Ans a) Yes, Vasily’s was hot tempered. | can say it because whenever semyon tried to talk to him
he just walked off .he had also an old grudge with the inspector.

Q2). Ans.Yes , we know that the chief was an important person from the way he arrived.He was carried
on a six wheel trolley whose handles were worked by four men.

Q3) Ans. Yes, Semyon was different from Vasily’s. he was more patient, satisfied tolerant person.
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Ch-11 The Signal 2
Ex-A. 1)b,c 2)a,c3)a
Ex-B Ans 1) he had a stick in his hand and a small bundle on his shoulder.
2) complaint about the chief to the head office.
3) he heard the hooter of the factory.
4) he realised that he could not go to his Hut and return in time.
5) the deep cut on his arm was bleeding continuously and he could not see the train or hear the noise .
6)Vaisely held the blood stained scarf high in the air.
Q/Ans Ex(c)

Ansl1) When Semyon meet Vasily during his round,Vasily was very pale and his eyes had a wild look .
When the chief had gone to Vasily's hut for the inspection they had argued and the chief had slapped
Vasily.

Ans2) Semyon collected sticks from a big marsh in the forest at the end of his section. he made flutes
out of them.

Ans3) He was squatting on the line to loosen the rail his plan was that the rail would move to other side
when the 6 o’clock train passed by it which cause a fatal accident to occur.

Ans 4) Semyon started running towards his hut to fetch his tool in order to repair the rail.
Ans5)Train no.7 was due to two minutes past six o’clock it was a passenger train.
Ex- D Think and Answer

Ansl) Both Vasily and Semyon saved the lives of the passengers. Since Vasily was responsible for the
loosening the rail track to cause an accident but afterwards he helped Semyon to avoid the accident.
Semyon soaked the scarf in his blood to make it red but he was injured badly and not able to hold it then
Vasily came and hold the flag and the train stopped.

Q2 Ans a) Vasily helped Semyon as he realized his mistake.
Novel- ch-4 The Rescue Plan

Ansl) In chapter 1,2,3 | came to know that passpartout was a coward character who was afraid of doing
any daring act. but when he rescued Aouda

bravely and wisely my opinion has changed.

Ans2) Wishing to our elders is an important custom in our country it is important to show expression of
love and respect towards them.

Ans3)In the novel fog is my favourite hero .He is very courageous, adventurous and daring person who
faces difficult situations wisely.
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Ch -5 The Trial

Ansl) | think Aouda felt it was her fault that fog and Passpartout were in prison because they rescued
Aouda from being burnt with the dead body of her husband .It was a custom prevailed at that time and
they protested against it.

Ans2) | think it was not right that fog was arrested too because it was not his fault that passpartout went
inside the temple with shoes

and broke the law.

Ans3)I think when someone has done something wrong | will try to make him realise his mistake and tell
him to improve it.

Ch- The rescue plan

Comprehension- a-2,b-5, c-3,d-4,e-1
The Trial

Comprehension

1) When......... young Indian guide

2) Aouda......... Hongkong

3) Apoliceman............... police station
4) Inthe..,. second priest

5) The judge.....month

Ch-10 word study The signal 1
Ex 2. Broad shouldered

3. Sure footed

4. Cold blooded

5. Six-sided

F- Matching
1-e,2-c,3-d,4-a,5-b

G) 1) so far 2)far cry 3) as far as one can see 4) will go far 5) from far and wide
Ex- A 1d,2-d,3-d 4-c

Ch -11 The Signal 2

Word study-

E)1-tough, 3-still, 6-cheerful, 7-agile,8-different, 2-obstinate, 4-straight, 5-quick
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F)1-cheerful, 2-quick, 3-different, 4-obstinate, 5-straight

G) matching

1-e,2-d,3-3,4-b,5-c

H)1)almanac 2)atlas 3) thesaurus 4) encyclopaedia 5) directory

Grammar study —

E) 1) loud mouthed,2) broad shouldered 3) sure footed 4) cold blooded 5) six-sided

F)1e, 2¢c, 3d,4a,5b
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‘Answer: ; ;

l. Razia (d) the only woman ruler of the
Delhi Sultanate.

2. Balban (c) believed in absolute monarchy

3. lutmish (a) nominated his daughter to the
throne

4. Aibak (b) founder of the Slave Dynasty

5. Ala-ud-din Khalji (¢) introduced control of prices
and rationing system.

6. Muhammad-bin- (g) token currency

Tughlaq introduced

7. Doab means (f) land between two rivers

8. Bahlol Lodi () Founder of Lodi dynasty.

9. AD 1526 (h) First Battle of Panipat was
fought.

II1. State weather the following statements are True Or False:

1.

2.

3.

Qutub-ud-din Aibak built the Qutab Minar of Delhi.
True

Balban believed in absolute monarchy.

True.

Malik Kafur was also known as Hazar Dinari because he was bought for a thousand dinars.
True.

. Muhammad-bin-Tughlaq is known as a ‘'mixture of opposites’,

True.
Firoz Shah Tughlag was Muhammad-bin-Tughlaq’s son.
False. Firoz Shah Tughlaq was Muhammad-bin-Tughlaq's cousin.

. Sikandar Lodi lost control over the Gangetic Valley.

False Ibrahim Lodi lost control over the Gangetic Valley,

. Khizr Khan was the founder of Sayyid dynasty.

False. Khizr Khan was the deputy of Sayyid dynasty.

Time To Learn
I. Fill in the blanks:

1. Qutab-ud-din Aibak was the real founder of the Slave Dynasty.
2. Razia was nominated by Iltutmish as his successor.
3. Balban’s theory of kingship was divine.
4. Jalal-ud-din Khalji was the first Khalji ruler.
5. Malik Kafur led many campaigns in North India and every time he brough booty

, jewels, elephants and horses. Y KN o
6. Amir Khusrau was a well-known poet in the court of Ala- ud-din Khalji.
7. Ala-ud-din constructed a big tank called Hauz khas.
8. Muhammad-bin-Tughlaq shifted his capital from Delhi to Devagiri.
9. Amir Timur invaded India in AD 1398,

10. Muhammad-bin-Tughlaq introduced copper coins in place of gold and silver coins.
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Question 1.
wnatmthcdil'ﬂculuuthat!Itutmhhhadtnfaccmdhowdadmucmethem?

Answer:
litutmish position was challenged from the very beginning since he had no hereditary claim over
mmm.MIMMMthamgaMth.

Question 2.
Write in brief about the rise and fall of Razia Sultan.

Answer:

Razia was brave, intelligent, and possessed all the royal qualities. She dressed like a man and used
to sit in the open darbar to transact business. She even rode horses. She was a talented woman
and regarded the welfare of her subjects as an essential duty.

There was chaos and disorder in the country when Razia came to the throne. But being an able
ruler, she put the things in order. She was a wise, just, and benevolent ruler. She became the true

But some nobles did not like to be ruled by a woman. She favoured a slave called Yakut and this
was one of the causes of her abrupt fall.

Question 3.

Who was Balban? What step=did he take to consolidate the Sultanate?

Answer:
Balban was the father-in-law of Nasir-ud-din. He came to power after the death of Nasir-ud-din in
AD 1266,

mmmwuhnuwmuummmm:

1. Balban reformed the army to increase its efficiency.

2. Balban created an awe and respect in the minds of the people.

3. He made the peopie and the nobles loyal to the crown,

4. Balban put the administration in order.

5. He checked the Mongol invasions successfully.

6. He organised a very efficient spy system.

7. He strictly believed in the ‘divine theory’ of kingship, i.e., king is the representative of God on
earth,

Question 4.
Who was the greatest of the two — Iitutmish or Balban? Give reason for your answer.

Answer:
mmmmmmuuummmngmmu

merldshnoblumhldmmhlsdumtommmmwppm.
2. The revoit of the Khilji governor of Bengal was crushed.
3,mmofmmm.mmlmofﬁhunlmdﬂuhn. was destroyed.

S GIVE REASON
Question
Nobles rebelled against Razia.
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tthlemaundtMHlndupﬂmmudviudthesmtanonhowtocamonmwmlnmnln
accordance with the sacred law.The third category of people or the town dwellers consisted of
officials, merchants and artisans who were fairly well-to- do.The common people or the peasantry
who formed the bulk of the population were poor and did not have enough to satisfy their needs.

Question 4.
Describe the important developments which took place in the following fields during the Sultanate
period (a) Language (b) Music and (c) Dance.

Answer:

(a) Language: Persian was the language of administration and the nobility. Arabic was mostly
used by traders from Western Asia. Sanskrit continued to be the language of high learning among
.the Hindus. The blending of Persian and Hindi, gave birth to a new language, Urdu. The word

Urdu’ means camp. It was the language used in camps by soldiers with different mother-tongues
to communicate with each other.

(b) Music: During this time fusion of Perso-Arabic and Indian classical music styles were done and
outcome of it was Hindustani Music. New musical instruments like the tabla, sitar and sarangi were
x flu;:bped during this time. The Persian style of chorus qawwali was also popularized during
(c) Dance: Kathak a dance form, originated during the Delhi Sultan g Hindu
R ey b 9 ng Itanate period. It combines

Question 5.
With examples explain how the Turks and the Arabs influenced the architecture of the Sultanate

Answer:

The characteristic feature of Sultanate architecture is the extensive bricks, arches, domes,
s wm,mmtuhmmumumm.mmw;’;b:dmdm'w
“mumn.mqmmwmwmmm.v«mmm
mmmmmmamm.mumeam
Sultanate period are the Qutab Minar complex, the Alai Darwaza, the tomb of Ghiyasuddin
_MM-MMNWMaMmmthW
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Chapter 2
Computer-internal Hardware
Answers

Exercises

[T

o0 oo

Qa0 T o N

@m0 o0 T oW

. Tick the correct answer.

System Unit e. Hard Disk
Motherboard RAM

CPU g. MRAM
Heat Sink

b

Write ‘T’ for True and ‘F’ for False statements.
T e. F
F f. T
F

T

Fill in the blanks.
Brain

Saving

RAM

BIOS

Track

Ports

Video
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Who am I?

System Unit

RAM

Secondary Memory
SMPS

Modem Card

oo oo wn

Answer in 1-2 sentences.
a. The hardware components that are fitted inside the system unit are internal hardware.
Example :- motherboard, drives, power supply etc.

b. A multi core processor is a chip with many processors to get greater processing
performance.

c. A heatsinkis a small ceramic or metal component, with fins on its surface, that absorbs
and disperses heat produced by electrical components.

d. A defragmentation program is used to place all parts of a file in one location.

e. An adapter card is a circuit board that enhances the functions of a component of
computer.

f. Speed of CPU is measured in cycles per second (hertz or Hz), where a cycle represents a

single task performed by the CPU such as adding two numbers, and is usually measured in

gigahertz (GHz) or billions of cycles per second.
g. SMPS stands for Switched Mode Power Supply. Many personal computers plug in
standard wall outlets, which supply an alternating current (AC) of 115 to 120 volts. This

type of power is unsuitable for use with a computer. SMPS converts the wall outlet AC
power to DC.

7. Answer Briefly.

System unit is a box like case that stands near the monitor. It is made of metal or plastic. It
protects the internal electronic components from damage. It is also called computer case.
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The electronic components and most of the storage devices of a computer reside inside the
system unit. Other devices such as keyboards, mouse, printer, speakers etc, normally occupy
space outside the system unit.

Functions of processor are as follows: -
(i) The main function of CPU is to control the functions performed by the other
components of computer.
(ii)  Itis used to process functions, perform calculations and manage most of the
operations.
(iii) It carries out the basic instructions that operate the computer.

Parts of CPU: -

ALU: - The Arithmetic logic Unit (ALU) performs arithmetic, comparison and logical
operations.

Control Unit: - It controls all the functions of a computer. It also checks the results given by
ALU.

Memory Unit: - It holds the data that needs to be processed as well as the data that has
already been processed.

c. Primary Memory

It is often known as the working memory or the main memory of a computer system.
Primary memory is of two types: - volatile and non-volatile. RAM is volatile and ROM is non-
volatile in nature.

Secondary Memory

It is used to store data for a long time. It operates at a slower rate than primary memory.
This memory is permanent in nature, ie, data stored is not lost even when the computer is
switched off. So it is known as non-volatile Memory.

Example: - Hard Disk, Compact Disk, Pen Drive etc.

d. RAM, also called main memory, consists of memory chips that can be read from and
written to by the processor and other devices. RAM is a volatile memory. It loses its contents
when the computer is turned off. So, you must save the items you may need in the future.

Types of RAM

(i)  Dynamic RAM (DRAM)
(i)  Static RAM (SRAM)
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(iii)  Magnetoresistive RAM (MRAM)

e. ROM refers to memory chips used for storing data that can be read only. The data on
ROM chips cannot be modified hence, the name read only memory ROM is non-volatile. Its
contents are not lost when the computer is switched off.

The variations of the ROM chips are-

(i) Programmable Read-only memory (PROM)- It is blank ROM chip on which you can
place items permanently.

(i)  Erasable Programmable ROM (EPROM)- The contents are erased by ultraviolet light
and then reprogrammed by a PROM program.

(iii)  Electrically EPROM (EEPROM)- It allows a programmer to erase the microcode with an
electric signal.

f. Formatting: It is the process of dividing the disk into tracks and sectors so that the
operating system can store and locate data and information on the disk.

Partitions: The hard disk can be divided into separate areas called partitions by issuing a
special operating system command. Each partition functions as if it were a separate hard disk
drive. Partitioning is often performed to make hard disks more efficient or to allow you to
install multiple operating systems on the same hard disk.

Q.8 Application based:

Ans: A Multi core processor.

4. Full Forms
1. CPU- Central Processing Unit
ALU- Arithmetic Logic Unit
CU- Control Unit
MU- Memory Unit
Hz- Hertz
GHz- Gigahertz
MHz- Megahertz
B- Byte
KB- Kilobyte

OoOoNOULAEWN
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10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.

MB- Megabyte

GB- Gigabyte

TB- Terabyte

PB- Petabyte

EB- Exabyte

ZB- Zettabyte

YB- Yottabyte

BB- Brontobyte

NVM- Non Volatile Memory

RAM- Random Access Memory

DRAM- Dynamic Random Access Memory

SRAM- Static Random Access Memory

SDRAM- Synchronous Dynamic Random Access Memory
DDR SDRAM- Double Data Rate Synchronous Dynamic Random Access Memory
RDRAM- Rambus Dynamic Random Access Memory
MRAM- Magnetoresistive Random Access Memory
ROM- Read Only Memory

BIOS- Basic Input Output System

PROM- Programmable Read Only Memory

EPROM- Erasable Programmable Read Only Memory
EEPROM- Electrically Erasable Programmable Read Only Memory
HDD- Hard Disk Drive

SMPS- Switched Mode Power Supply

AC- Alternating Current

DC- Direct Current

Computer - VII



CLASS 7 — (CHAPTER 3)
NUMBER SYSTEM — AN INTRODUCTION

1. Tick the Correct Answer:

o oo o

On and Off
Oand 1
Off

Byte
Nibble

2. True or False:

a.
b.
C.

False
True
True

3. Blanks:

S®m ™m0 o0 T oo

Positional

10

Binary

Octal
Hexadecimal
0-9andA-F
digits

bits and bytes
odd

Computer - VII
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Bit

Decimal
Hexadecimal
Oto7

d. False

False
True



4. Short answers:

d.

b.

C.

d.

The binary number system is a number system that has just two unique digits,
0 and 1, called bits.

Every character in computer like alphabets (A —Z or a—z), numbers (0 —9),
symbols, has an assigned numeric code. This code is known as ASCII
(American Standard Code for Information Interchange) code.

There are different positional number systems. These are:
1. Decimal Number System

2. Binary Number System

3. Octal Number System

4. Hexadecimal Number System

Bit - The smallest unit in computer processing is called Bit. It is a unit of data
that can be either of the two conditions, 0 or 1.

Byte - A group of 8 bits is called a Byte. 256 bytes are possible and they can

represent 256 characters.

Nibble - Half a byte is called Nibble. A nibble is a collection of bits on a 4-bit
boundary.

5. Answer Briefly

a.

Number system is a way to represent numbers in a computer system. Every

value that you are giving to/ getting from computer memory has a defined

n

1.

umber system. There are two types of Number Systems.
Non — positional Number System

This method of counting uses an additive approach or non — positional
number system. In this system, we have symbols such as | for 1, Il for 2, Il for
3, llll for 4, lllll for 5, etc. Each symbol represents the same value regardless of
its position in number.

Positional Number System

In a positional number system, there are only a few symbols called digits.
These symbols represent different values, depending on the position they
occupy in a number.
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b. Non — positional Number System

This method of counting uses an additive approach or non — positional number
system. In this system, we have symbols such as | for 1, Il for 2, lll for 3, Il for 4,
[l for 5, etc. Each symbol represents the same value regardless of its position
in number.

Positional Number System

In a positional number system, there are only a few symbols called digits. These
symbols represent different values, depending on the position they occupy in a
number.

c. Octal Number System

In an octal number system, the base is 8. Hence, there are only eight symbols or
digits 0 — 7. The largest single digit is 7. Each position in an octal number
represents a power of the base (8).

Hexadecimal Number System

The hexadecimal number system uses 16 digits. These include the symbols 0 -9
and A —F. It can represent binary values in a more compact and readable form.

d. Decimal Number System

The decimal number system is a base 10 number system.The base of a number
system indicates how many symbols it uses. The decimal number system uses 10
symbols: 0 — 9. Each of the symbols in the number system has a value associated
with it.

Binary Number System

Binary is a base 2 number system and the symbols it uses are 0 and 1. In binary,

the place values, moving from right to left, are successive powers of two.

Computer - VII
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CLASS 7 (Chapter 7)
Formatting Worksheet and Adding Simple Formula in MS Excel

l. Tick the correct answer
a. Formatting

b. Alignment

c.12

d. Theme Gallery

e. Cell Reference

Il. True/ False
a. True
b. False
c. True
d. False

Ill. Fill in the Blanks

a. Formula

b. Merge & Center command
c. Border

d. Numerical

e. Special

f. Percentage

g. Clear rules

IV. Short Answers
a. We need a theme gallery to apply a combination of formatting settings and to give a
professional look to the spreadsheet.

b. Gridlines help to differentiate between cells.

c. Itis useful for centering titles over the data.

d. Changing the color of cells adds background color to the cells. Changing the color of
data changes the color of data in the worksheet to draw attention towards important

information.

e. When you move the mouse pointer over themes, you see them previewed in the
worksheet. This feature is called live preview.

f. Every cell in a worksheet has a unique address called cell reference.
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g. Auto sum function quickly performs common calculations on numbers in the
worksheet.

V. Long Answers

a. Formatting displays the worksheets in an attractive and more legible outlook. You
can make the worksheet more presentable by applying one or several of Excel
formatting features. The appearance of the worksheet data can be improved by
changing the font and size of data, adding colour and shading etc.

b. Number Formats can be used to control the appearance of numerical data.

e Number — General number display with two default decimal points.
e Date — Used to display date values.

e Time — Used to display time values.

e Percentage — Multiplies cell value by 100 and displays percent sign.
e Text— Treats value as text.

c. Conditional formatting feature of Excel allows you to apply different formatting
options such as background colour, borders or font formatting to data that meets
certain conditions.
Steps: 1. Select the cells or range of cells.

2. Click on Home tab.

3. Click on Conditional Formatting.

4. Click on Highlight Cells Rules.

5. Specify the operator.

6. Enter a value or text for condition.

7. Choose a format and click on OK button.

d. A formula is a sequence of values, cell references, names of functions or operators
that produces a new value from existing values. Formulas are used to perform various
calculations such as addition, subtraction, division and multiplication. In Excel,
Formulas begin with an equal to (=) sign.

Q.6 Application based:
Ans: Conditional Formatting
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Shortcut Keys:

e Save a worksheet — Ctrl+S

e Undo the last action — Ctrl+Z
e Redo the last action — Ctrl+Y
e Cut/Move text — Ctrl+X

e Copy text — Ctrl+C

e Paste text- Ctrl+V

e Boldtext—Ctrl+B

e Italics text — Ctrl + |

e Underline text — Ctrl + U

Extra Questions:

1) What is alignment?

Answer — Alignment means the way in which data is settled within the boundary
of a cell. You can align data in three different ways such as left align, center align
and right align to enhance the appearance of your worksheet.

2) Write steps to change Font and Size of data.

Answer —1. Select the cells containing data.
2. Click on “Home” tab.
3. Click on the down arrow button of Font.
4. Click on the font you want to apply.
5. Click on the down arrow button of the Font size.
6. Click on the size you want to apply.

3) How can you add borders to cell?

Answer — You can add borders to your worksheet cells. It will separate the data
from surrounding cells.

1. Select the cells.

2. Click on “Home” tab.

3. Click on the down arrow of Borders.
4. Click on any border style.

4) Write steps to remove conditional formatting.

Answer — 1. Select the cells from where you want to remove the conditional
formatting.

2. Click on the “Home” tab.

3. Click on “Conditional Formatting”.

4. Choose “Clear Rules”.

5. Click on “Clear Rules from Selected Cells” from the side menu.
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5) What is an operator?
Answer — An operator specifies the type of calculation you want to perform.
Example - +, -, *, /, etc.

6) Write steps to perform Autosum.

Answer — 1. Click on the cell below or to the right of the cells containing
numbers.

2. Click on “Home” Tab.

3. Click on down arrow button of Autosum.

4. Click on the calculation you want to perform.

5. Click Enter key to perform the calculation.

PERIODIC TEST 1(PAGE 156)
1.b — Main memory

2.a— False
3.b — Hexadecimal
4.a 2|325

20 -0 Ans —(101000101),

NN N NN NN NN
=
o
|
o

5 -0
2 -1
1 -0
0 -1
b. 8721
8190-1 Ans - (1061)g
8/8 -6
1 -0
c. 16/184
16|11 -8 Ans — (B8)6
0 —11->B

5.b—Ans4bof Ch-3

5.c—Memory - It is the basic unit where data and instructions are stored temporarily.
Memory usually consists of one or more chips on motherboard. Memory stores
instructions waiting to be executed by processor, data needed by those instructions
and the results produced after processing the data.
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PERIODIC TEST 3 (PAGE 157)

1.a — Alignment
4.a—Ans5-aofCh7
5.a—Ans4-cofCh7

TERM TEST 1 (PAGE 158)
1l.a—CPU

1.b — EPROM
l.c—0and1

2.c — False

2.d—True
3.b—-1.5inches

3.c — Switched Mode Power Supply

3.d-10
3.e — Octal
5.a (i) 2]245

[N
[
N
N

I
=

~N
I
[y

NN S S

NN N
> ™ |
w
I
o

5.b (i) 11001

15 -0 Ans —(11110101),

6 -0 A ns—(1100111),

1x2% + 1x23 + 1x2% + 1x2* + 1x2°

16+8+0+0+1
25
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(ii) 1000001
1x2°%+ 0x2° + 0x2”* + 0x2> + 0x2% + Ox2" + 1x2°
64+0+0+0+0+0+1
65

6.b — Ans 5-a of Ch 3
6.c— Ans 6-d of Ch 2

TERM TEST 2 (PAGE 159)
1.a — Formatting

1.c — Highlighted

2.a— False

3.a— Alignment
5.b—Ans 5-b of Ch 7
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First Term Answer key English language class 7

Ch -10 The Verb

Ex-A 1) play, 2) was 3) us

B)1) take 2) go 3) like 4) struggled 5) goes 6) barked 7) land 8) do, shout 9) dictates, 10) relished

Ex -c 1) transitive (the bus) 2) intransitive 3) transitive (the time) 4) intransitive 5) transitive a present (
direct )me (indirect)6) intransitive 7) transitive ( whistle) 8) intransitive 9) transitive ( things,)10)
intransitive

D)1)

Drank
Brushes
Spoke
| was feeling
Was falling
Moves
Rises
Reached
Will do

. Eats
E- 1) hung
Lay
Lying
Admitted
Confessed
Raised

WO NOUAEWN R

=
o

Rose

Asked
. Flows
10. Flown

©oNON A WN P

F)

1. ) happy
2) bitter
3) well
4) sweet
5) dark

CH-12 ACTIVE/PASSIVE VOICE

English Language - VII



Ex-A 1) by2) two
B) 1) Vollyball is being played by them.

The bike was repaired by The mechanic on time.
The room was being dusted by us.

Books and newspapers are edited by editors.
The clothes were put in the cupboard by Nisha.
Homework is done by us every day.

The match was won by our team.

The work will be finished by them in a week.

L oo N AW

=
o

. This game will be taught to you by me.

[N
N

. The burglar was being chased by the people.
. A century was scored by him.

. She is loved by everyone.

. My bike has been sold by me.

. He was arrested by the police.

. Check was handed to her by him.

. English is taught to us by MS paula.

. He was kept waiting by them.

20. The enemy has been defeated by our army.

R R R R R R R
O 00 NO U W

Ex-c 1) Parvez did not speak a word.
2) Some boys were helping the old man.
3) A car knocked down the child.
4) the noise frightened the horse
5) spectators filled the stadium.
6)The wind blew down the trees.
7) they took her to the hospital.
8) George stephenson built the first railway engine.
9) the boys work pleased the teacher.
10) Her optimism stuck me.
11) His teachers praised him.
12) The people welcomed the Prime Minister .
13) The noise frightened the cat.

14) Who did this?

The telephone was invented by Alexander Graham Bell

. The signal was received by the officer from his commander.

English Language - VII



15) The boy teased the dog.

16) The thief has picked my pocket.

17) The teacher appointed him monitor.
18) Marconi invented the radio.

19) The Mayor opened the exhibition.
20) The watchman opened the gate.

D)

Were they arrested by the police?

What information was given to you by him?
A dark cloud is seen by us.

Is English liked by you?

Many people were injured by the bomb.

oo oo

Ch-15 The prepositions

Ex-A. 1)into 2) with 3) on 4) about 5) for 6) beside 7) in

B) 1) with 2) on 3) in 4) into 5) of 6) on 7) between 8) in, within 9) on 10) in
C) 1. He goes to the office on foot.

. She is married to a rich man.

. Mumbai is famous for its textiles.

. Camels are peculiarly adapted to life in the desert.
. His disability prevents him from driving.

. He prefers coffee to tea.

. These computers are cheap enough to be accessible to most people.
. Beside the ungathered rice he lay.

. He is at death's door.

10. There is still no cure for the common cold.

D)

1) except 2)in 3) of 4) instead of 5) for

O 00 NO UL A WN
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